6 | 5 | L 3 2 | 1
ECO FRAME B1.0
ECO Frame assembly instructions |
Part List
Type Description Part Quantity

These installation instructions must always be handed over to the B1.0 - Outer Frame Z
person who is carrying out the installation. ,
Read these instructions carefully before installing the system. B1.0 - Connecting Bar 1

. - .. , Projector Plate 1
The ECO Series products is infended for use by fully qualified, trained
anq competent peljsons to provide safe and secure installation and Screw 1SO 7380FL - MSx30 - black 6
adjustment of projectors setfups.

Screw ISO 7380FL - M5x40 - black 6

Warning: Handling only by instructed, qualified and authorised person
with a minimum age 18 years and of sound mind. Nut DIN 6927 - M5 - black 12
Do not remove or replace any parts of the ECO Series products on Screw ISO 7380 10.9 - M6x16 6
your own. Contact the manufacturer or service partner in case of
damage or loss. Removing or replacing parts by non-certified Schnorr-Washer d=6mm 6

companies or people might result in serious accidents and death.

When assembling the parts of the ECO-FRAME never apply significant
force. If significant force is necessary, the cause may be a faulty
part. Ignoring this, might cause significant damage to the product and
serious accidents may result.

Use only original parts such as screws, washers, nuts efc. Using other
parts than the ones recommended by the manufacturer may resultf in
serious accidents and death.

Use all of the described parts in this manual. Ignoring this will make it
unsafe to use the product and is highly dangerous.

Make sure you tighten all of the screws and nuts with the correct
torque. Otherwise it is not safe and the mechanical stability and
reliability is not given. This is may result in accidents and death.

=)

COLUTIONS

© COPYRIGHT EXACT SOLUTIONS

This print and the information shown thereon, i
EXACT SOLUTIONS. It may not be delivered to othe:
reproduced for general circulation without the writt

the EXACT SOLUTIONS.

s the property of
rs nor

written consent of

Material:

Revision: 00

Weight: 7,0 kg

Date

Name

Author 20.08.2025

Lukas Viebahn

Note: Please check the delivery for completeness and damage
immediately affer you receive the shipment. Please contact your
vendor in case of missing or damaged parts.

Checked

Approved

G @ Dimensions in mm

Title:

Assembly of ECO-Frame B1.0

Part Nr.:
ECO-FRAME-B1.0_Assembly

SCALE:
1:10

A3

Status

Change log

Date

Name

Design and specifications subject to change without notice|

‘ Number of pages: 1/2

. wmBE>PBEPPBE B P PP P

3

2

1




6 | 5 L

| 1

ECO FRAME B1.0

B1.0 - Outer Frame

B1.0 - Connecting Bar

Projector Plate

Always place the nut on the inside!

Always place the nut on the inside!

Tighten M5 screws mit 5-7 Nm

ISO 7#380FL-M5x30 - black

ISO 7380FL-M5x40 - black

B1.0 - Outer Frame

DIN 6927 - M5 - black

=XACT

SOLUTIONS

© COPVRIGI'!T EXACT SOLUTIONS

This print and the inf

‘mati hown thereon, is the property of
o others nol

print and the information sl
EXACT SOLUTIONS. It may not be delivered tc
reproduced for general cil {

| circulation
the EXACT SO

without the written consent of
LUTIONS.

Material:

Revision: 00

Weight: 7,0 kg

Date Name
Author 20.08.2025 Lukas Viebahn
Checked
Approved

Jﬂ @ Dimensions in mm

Title:

Assembly of ECO-Frame B1.0

Part Nr.: S?':L\";E:
ECO-FRAME-B1.0_Assembly e

Status

Change log Date

Name

Design and specifications subject to change without notice

‘ Number of pages: 2/2

6 | 5 A

3

2

| 1




